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Instructions/a e

1 The question paper consists of both Multiple Choice Questions and subjective type questions. The
general questions are given in PART -1 which is of 40 marks and subject specific questions are given
in PART -2 of 60 marks, consisting of section-A of 40 marks (40 questions of 1 mark each), section-B

of 12 marks (3 questions of 4 marks each) and section-C of 8 marks (1 question of 8 marks ).
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PART -1
Multiple € hoice Questions (40 marks)

(Every correct answer: 1 mark, wrong an.wer: -0.25 marks, not attempted: 0 marks)
I The objectives of the Wild Life (protection), Act 1972 is

To preserve the biodiversity

Protection and consersation of wild life

o maintain essenial ecological and life supporting systers
Ail the above

DOowe

[

The first major environmental protection law promulgated in India was

Air Act

Water Act
Environmental Act
Motor vehicle Act

oo

3. Methods used for softening water containing permanent hardness are

A. Lime soda process
- B. Zeolite process
- C. Reverse osmosis
D. All of the above

4, Which one is non lumin~=

A. Moon
B. sun
C. star
D. comet

5. In which one of the following sound travels fast

A. Solid
3. Air

C. Water
D. Vacuum

6. Thinner particles responsible for deteri()rﬂlinggthc air-quality resulting in the daimage of vital
body organs are reterred as PM

A. 20
B. 10
Oy 25
D1



TIT 1
agRAhed TR (3 40)
(T W AT 1 HF, A I -0.25 ek, GATE AT THAT AT 0 VeR)
1. 4e Sfiae (daion) sfafags 1972 a1 e ¥
A. Ja Rfavar & @dEg s F [
B. SiTelr Sitat iy geam AR wwemor
C. Jmavys gifFufas 3R Shae weras gonferat &1 a0 @ & fo
D. 39d#a wft

-

2mwﬁmmqmruﬂwwmmawwm
A, UL U9

B. Sa fafaws

C. gdiazor i

D. Hex aga ifafaan

3Fﬂnﬁmmﬁmﬁraﬁmm$ﬁwmmammﬁmﬁ
A, altg #sT ik

Bﬁ‘{mﬂT{.EHﬁmr

C. Nad wwaray

D. 3uqad gafr

4. ®let AT AHBSIT e &
A. T@ig

B. ¥I&l

C. ¥R

D. ey

5. fifafaa 7 4 fras eafer Aol @ ar w3
A. 8T

B. gar

C. s

D. foaTa

m@wﬁr#mﬁﬂ:mawmaﬁrwﬁ?@#*ﬁmmmmmﬁ
7 H wefdta g § ‘
A. 20
B. 10
C. 25
D. 1



7. Transboundary pollution (or) Acid rain is caused by:

A. Hydrocarbon

B. Carbon dioxide

C. Carbon monoxide

D. Nitrogen oxide and sulphur dioxide

8. “Kyoto Protocol’, an agrecment signed by various couniries, is associated with
Y g tsig ¥

A. Movement of hazardous waste

B. Deep Sea Oil and Mineral Exploration

C. Clean Environment and Climate Change

D. Building common food stock to save human beings from : i1y natural disaster

9. Which of the following are the key features of ‘National Ganga River Basin Authority
(NGRBA)*?

| River basin is the unit of planning and management.

2. It spearheads the river conservation efforts at the national level.

3. One of the Chief Ministers of the States through which the Ganga flows bbcomes the
Chairman of NGRBA or rotation basis.

Select the correct Answer using the code given helow

A. 1 and 2 only
B. 2and 3 only
C. 1and3 only
D. 1,2 and 3

10. The heat of hydration of cemer. can be zduced by

reducing the proportions of Cz A

increasing the proportions of  Cy A and C; S

increasing the fineness of cement

both (a) and (¢ )

wherc C: A and (; E-. are tricalcium aluminate and tricalcium silicate respectively.

Dow>

11. A teature "Bluetooth" now common in mobile phones gets its name from a
A. Chinese 10" Cenmr\'r King
B. UK Software Company .
C. Greek Goddess

D. Danish 10% Century ng o §
12. Which of the followmg is an insulator?

A. Mica

B. Steel

C.: Galvanized steel .~ -
D. Cadmium Copper



7. graar3sy geyor (an) vfdE aiersr  wRor g
A. ETEBIHIET

B. #Ie+ SrS3iterass

C. &da AA3TFEEE

D. AEeIS 3ifFaTss T Fowt sE3iiauss

B.Tqmmam‘fsr',ﬁﬁmraﬁﬁaymgw&aﬂﬁwwmqagm%

A, GAATR AfRIST HT 3erels

B. 7Y PR e 3R @fesr swdyor

C. ¥aee gdiaror 3R Srerary aRade

D. fadll off urehfden 3mver & Aesal ) samey & v 3m wiey ssK & o

9. sgrr i Ay affe HUE (Ao $i THE AAYATC Hlar Y €7
1. a8 affie st 3R st # s g
.2.uﬁmﬁu$mwa€rmmrmﬁwﬁqﬁra;m%l
3. & AETARAT A A v S ATA § 9 yarg guie & HIUR 9T AT & arear
& ST B » .
A v a1v I3 @1 suAT # AE I H auT Fi|
A. 1 3R 2 Faw
B. 2 3R 3 &ud
 C. 13K 3 Fad
D. 1,2 3T 3
10. @ & greseet & et s g ged
A Cs A & ITUTd & &H S
B. CiA 3R Ci S& 3rquia & gafa
C. ®idT &1 gavar & gafdr
D. g1 (A) 31T (C)
SfeT Cs A AR C3 S @ grhfovaw veyfdne it gé%fooan fafade
11. A&rgel Bl # I U Braw sy 3H ¥ S aw @aro @
A. 10 @F erdredy & =l e
B. g% HiFedIN e
C. it 2t
D. 10df eramedr & 3fAer aram
8
12. 304 @ &leT &1 UF ol 87
A. HTGHT
B. el
C. N2 es el
D. #sfAge sy



13. Rainbow is formed due to:
A. Scattering and refraction
B. internal reflection and dispeision
C. Reflection only
D. Diffraction and Reflection

14. Who among the following has not won an Oscar?
A. A.R.Rahman '
B. Satyajit Ray
C. BhanuAthaiya
D. Dev Patel

15. The Sun Temple is located at
A. Bhubaneshwar
B. Mahablipuram
C. Konark
D. Mathura

16. The gas used in artificial ripening of fruits is
° A. Carbon dioxide '

B. Acetylene
C. Ethane
D. Oxygen
17. The Tropic of Cancer passes through the states of 1. Gujarat; . \Jb="«hand; 3. Assam; 4. Mizoram
A. 1,2and4 '
B. land?2
C. 1,3and4

D. 1,2,3and 4
18. Out of the given alternatives, ch. 2se ' 2 one which best expresses the meaning of the word "Sultry":
A. Unpleasaht
B. ll-smelling
C. Impure
D. Hot and sticky’
19. Select the correct meaning of the word "seminary”

A. Chapel

B. College

C. Convocation hail

D. Hostel T
20. Choose the option which is the antonym of the word "folly" |

A. Wisdom ae

B. Antidote

C. Humility

D.. Blame’



13. SaUIY & defo T HRUT &
A. Wl 3R 3raade
B. 3dfes ayrade A hema -
C. Uradel shdel
D. e 3R wade
14. PoTaf@a & & Rrae sifea wigh ofar &2
A. TIR. @A )
B. #emala ¥
C. e 3rdar
D. 2d @wd
15. 48 Afew feua &
A. ey
B. HETEeH
C. IvTH
D. #YY
16. Well & PAA gahet 3 I9AT H S arelh A4 @
A. FTE SE3TFHEE ‘
B. vfafeder
C. 839
D. 3t .
17. ISUTRTRAET ohdh Y@T Tl F ATEEA < BIRL Sl IS 2. SINWS; 3. 378H; 4. ASH
A. 1,2 3T 4 '
B. 1 3 2
C. 1,33k 4
D. 1,2,3 3 4
18. R8T 1w fawedt & @, @8 T S IAWER"UeG I Y cuFd HIAT § "
A 3o
B. dIA-AsH
D; a9, 3R fRgfer
19. "seminary" g T wE HY ol
A. Chapel
B. College . -
- C. Convocation hail L 8
D. Hostel

20. 9% Rsew ot WY "FOLLY" e &7 waiiararey @
A. Wisdom '
B Ahg‘idqte :

C. Humility

D. Blame



21

22.

23.

24,

25.

26.

Choose the option which is the antonym of the word "commend"
A. Criticize ’

B. Comment

C. Forsake

D. Dexterity

In the following options, the word "break" is used in four different ways. Choose the optlon in which

the usage of the word is incorrect or inappropriate

A. After three hours of work, | am longing for a break.

B. My garment business has reached break-even,

C. Sheisstill in a state of shock after the break-in.

D. Unable to face the pressure, Sarah had a break-up.

In the following options, the word "blow" is used in four different ways. Choose the option in which

the usage of the word is incorrect or inappropriate

A. The hijackers threatened to blow up the plane if the government failed to concede to their
demands. '

B. Losing both her parents in quick succession was an insufferable blow to her.

C. The storm seems to be quite fierce, but I'm sure it will blow off by tomorrow.

D. Itisimmodest to blow your own trumpet.

A train X leaves station 'A' at 3 p.m. and reaches station 'Rt 4:2) p.m., while another train Y leaves

station 'B' at 3:00 p.m. and reaches station 'A’ at 4:00:5.m.  a27C tre ns cross each other at:

A. 3:30 p.m.

B. 3:20 p.m.
C. 3:40p.m.
D. 3:36 p.m.

There are two urns. One conti ns two vhite balls and four red balls, the other contains three white
and nine red balls. All balls are ¢ the s:/ ne shape and size. From each urn, one ball is drawn. What is
the probability of getting both the balls of the same colour? :

A. 1/24
B. 7/12
c. 1/12
D.. 1/2

P, Q and R are three consecutive odd numbers in ascending order If the value of three times P is 3
less than two times R, find the value of R

-
B. 7
g
D. 11



21. 9% RAFey ??f ST "commend"asg &1 gATHATHT
A. Criticize

B. Comment

C. Forsake

D. Dexterity

22. Prfaf@a Racdl #, aeg "9 1 SRNT AT I@T-36@T Gl @ far Siar g1 ag fawed o
vt ereq T 39T AT a1 IR § '

A. &1 & A1 G2 916, # oF 3@ & AU 30 €

B. AU 9Rure egaa 39 8 3dt B

C. s&-ga7 & arg o ag weA & f&ufa & &
D.mwaﬁ?—mgmm,mmwﬁﬁmﬁh

23, Prtatad fawedt 3, e "2 w@eT G el -Hew aliwt & By Srer §) gg Awew g4
fores ea @1 39T el AT I §

A. 39gci3t & RHAET FY ey A gAd) &), 30K GER el AP B EER H 7 A T
" B. 3 ATr-Rar et 1 @en, Jeg & 3auER #, 386 v vE aiEdda 33 ( Hed )
7| :

C. el Y IAHT ST §, Aot 79t aiet & R Fg e, oL TS

D. ¥§ 39 W & U I3 F AT Hew ol @

24, U T X FEAUT A 03:00 PM T B30I 4:30 PV 9 L2 B TF qga ST B, Sl 0
AT 3T Y B BT 3:00 w oI5 &eh ¢ AL 400 Wil R A dH Ugd Sl & T oo U

aay B wra B
A. 3:30 PM
B. 3:20 PM
“C. 340 PM
D, 3:36 PM

25. & deer § v 3 @ Whg 9% AR A arel I AT § g@y F A w@hg IR A e g g gl

Tt 3E U & MR IR IER F | UAF HET @, U g @i sneh @1 v & Gy Qe et @

gred §idel T GHTEAT FAT 87 : ;

A. 1/24

B. 7/12

c. 1/12

D. 1/2 A 5

26. IR %7 A p,0 3 R T e deard gen g1 afy fer gom P @ e 2 TR & 3

CFHLA RS AR GE -

A. 5 §

CB.7
c. 9
p. 11



27. Pipe A can fill a tank in 10 hours, and Pipe B can fill the same tank in 12 hours. Botk the pipes are
opened to fiill the tank. After 3 hours, Pipe A is closed. Pipe B will fill the remaining part of the tank in:

28.

29.

30.

A.

B.
C
D

5 hours
4 hours
5 hours and 24 minutes
3 hours

In a certain class, 72% of the students prefer cold coffee, and 44% prefer fruit juice. If each of them
prefers cold coffee or fruit juice, and 48 students like botn, the total number of students in the class

is:

o0 ® >

240
200
300
250

A vessel contains a mixture of milk and water in the ratio of 5:3 respectively. How much of the mixture
must be siphoned off and replaced with water so that the mixture may be half milk and half water.

A part of monthly hostel charges is fixed, and the remaining depends on the number of days one has
taken food in the mess. When a student A takes food for 20 days, she has to pay Rs. 1000 as hostel
charges, whereas a student B, who takes fDDd for 26 days, pays Rs. 1180 as hostel charges. Find the
fixed charges, and the cost of food per day.

A.

B.
C:
D

400, 40
400, 30
300, 30
200, 20

10



27. 93T A 10 G # ¥ 6T wehelr &, 3 sy B 3¢ ¥ o 12 G A HT @haT g1 EH H WS F
AT XAt areg @iy aTe §| 3 6 & aIg, uIEy A @ &) Usy B EH & AW HET HI I I

A. 9T 8¢

B. R &

C. 5 °¢ 3R 24 &=

D. e g

28, U AR eI 3, 72% OTF o281 BT qHg #ld 8, 3T 44% Wel & W U HA &1 A I
A UcE F1 ST HIBT AT Bell 1 1 GG g, 3T 48 DT Y gl v &, ar el A ol B Fer
HEAT §
A. 240
B. 200

C. 300
D. 250

29. U @l A FHAA: 513 & Ul A gy AR q HOAH %|ﬁmm%mf%mﬁmmm
aﬁvaﬂtqﬁrﬁmf&mwmcﬂﬁf&mrmma 3rer 9 @
A. 6

B. 3~

30, #ifl glece Yol & uah fgwam aa far arar §, 3 A et o arel et dr dwar gv iy
W%lmmﬁémvzoﬁﬂ?aﬂ?aﬁaﬂﬁm%‘a’rﬂ?mfﬁm#mﬁrmoowqﬁaﬁrmmm

mm%mﬁ?wmﬂﬁmzsﬁﬁ%ﬁmmﬁw%ﬁamaﬁwﬁ1180:6‘1’&?51
Wﬁmﬁm?llmﬁﬁﬁmﬁﬁﬁﬂmﬂﬁﬂwml -

A 400,40
B. 400, 30
C. 300, 30
D. 200, 20

11



Directions {Questions 31-33): These questions are based on the following information:

31.

A

33,

34,

35.

e Sevenvillages A, B, C, D, E, F and G are situated as follows:
e Eis2km tothe west of B
® Fis2km tothe north of A
e (Cis1km tothe west of A
e Dis2km tothe south of G
e  Gis2kmtotheeastof C
e Disexactly in the middle of B and E.
A is in the middle of:
A. EandC
B. FandE
C. FandG
D. GandC
Which two villages are the farthest from one another?
A. DandC
B. FandE
C. FandB
D. GandE
How far is E from F (in km) as the crow flies?
A4
B. V20
C. 5
D. V26
In a certain code, ROUTINE is v ritten as 'Mi.GFLi. How will CRUELTY be written in that code language?
A. VOCVZRL
B. VPCVZRL
C. BGOVFIX
D. WPCVZRL

How many pairs of letters are there in the word ADVERTISE each of which has.as many letters between
them in the word as they have in the English alphabet?
A. None
B. One
C. Two
D. Three §

12



frenfarder (927 31-33): F weaT et STl 9 e ¢

wret g ©, o, @, 3§, vw AR S e R 8
§ o & gfge & 2 el &

UH U & I H 2 e @

v & qiYgs 7 1 e §

A S & gferor a7 2 faalt B

e & gd A2 g

&1 fege o 3§ & AT A B

3.7 9T H &

A. & 3t @

B. UF 3 &

C. o 3R S

D. off 3k @

32. ®leT @ & M TH gEY A G gT &7
A. 3 3k @

B. vk IR §

C. T IR &

D. S 3T &

33. @lar 3o & Rem & vw (Rl 7) B0 A Y 87
A A

B. V20
C. §°

D. V26
34. v AP #12 3, ROUTINE @ VMRGFLL & &9 #f far@m sirar ¥1 39 a3 mer & CRUELTY &

forar smoam?
A. VOCVZRL
B. VPCVZRL
C. BGOVFIX
D. WPCVZRL

35, ADVERTlSE%ﬁﬁﬁﬁﬁym%ﬁaﬂﬂmm?ﬁmﬂmﬁym %ﬁ'fﬂﬁrﬁ
SN autATr # e & g £
A. IS TEl

B. U&

oA
D. e

13



36. '1'is subtracted from each odd digit and ‘1' is added to each even digit in the number 5249836. Which

- 37.

38.

35

40.

of the following will be the difference between the chird digit from the left and the third digit from
the right of the new number thus formed?

A 4
B. 5
cC. 3
D. 2

Consider the following statements regarding 'Earth Hour': 1. It is an initiative of UNEP and UNESCO;
2. It is a movement in which the participants switch off the lights for one hour on a certain day every
year; 3. It is a movement to raise the awareness about the climate change and the need to save the
planet. Which of the statements given above is/are correct?

x

A. 1and3aonly
B. 2only

C. 2and 3 only
D. 1,2and 3

With reference to 'Global Environment Facility’, which of the following statements is/are correct?
A. It serves as financial mechanism for 'Convention on Biological Diversity’ and 'United
Nations Framework Convention on Climate Change'
B. It undertakes scientific research on environmesZal is. Jes at global level
It is an agency under OECD to facilitate th . +Znsi r of technoiogy and funds to
underdeveloped countries with specif : aim to pr tect’ eir environment
D. BothAand B
With reference to 'Eco-Sensitive Zonel  whic of (-4 @owing statements is/are correct: 1. Eco-
sensitive Zones are the areas ' \at aie o ared under the Wildlife (Protection) Act, 1972; 2. The
purpose of the declaration of | :0-Sensitive _anes is to prohibit all kinds of human activities in those
zones except agriculture. Select' he corr ct answer using the code given below:
A. 1only
B. 2only
C. Both1land2
D. Neither 1 nor 2
'Bio Carbon Fund Initiative for Sustainable Forest Landscapes' is managed by the
A. Asian Development 3ank
B. International Monetary Fund
- €. United Nations Environment Programme
-'D. World Bank
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36, HEAT 5249836 # '1'9AF AYH 3F F weran Swar § AN 1 wede wH 3E A Ser o Srar
¢l FRf@d & @ st ar 7= e & e @ et e AR g ¥ S 3 & AT a2
A 4 .

B. 5

cC. 3

D. 2

37. "9t &1 AR H TR F Pfafad et AR S 1 2g guasd 3 gaee @ ggd ;2.
Ug U Hierdd ¢ e wiamfael & 8¢ drel v Af@ug fga o e g & fav Qe 4 T & §
3. 9§ Sefary aRace AR e AT senet B IEedshdr & a7 SErEsdr el § faU U et g
I Ru v aure & @ e or w8 2

A, 13T 3 Faa

B. 2 ad

C. 2 3K 3 Fad

D. 1,2 3T 3

38. 'dRaeh gaor glaer & wed A, @rfaf@a § 4 s @ s wd 2

A. Tg s RAfuar W e’ I Seary aRads s dgEd Usg haad sedee & fae Ay
a7 & ®9 & = Har ¥ ;

B. ¥ e F¥ 9T Aoy Hegl W Aaw dngaene e

C. TEOECD & ded Ush TSl § S &l gaieador 7 i & v fal se 3¢den & @y wiasfaa
R 1 iRy 3R wer geeieRor @1 gRawr oae S g

D. A 3R B it

39. 'sh-HfART ey & deH A amfai@d T ¥ T @ sy 89 & 1. oRuRd-gazaia &3
geasfia (deator) Hfafamw, 1972 % ded, MR e 7o &9 §; 2. gafagor-gagasia &30 f arwon
HT 32T FHY F BIsF 37 8 A wall G A Aeg afafAfgt & gea@a e g1 M Re g
FNZ 1 ITANT FT FEY FaL H a4 P : '

A. 1 Fad

B. 2 &del

C. 1 3R 2 g

D. aat13kadr2

40. ‘T a1 URERE & AU Sa FdeT G gge @ gauw R Siar ¥
A. T Rem dw '

B. HAUET Har &y

C. HgFa Usg gATeaoT HrdwH

D. dof ¥ o
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Part -2
INFORMATION TECHNOLOGY/COMPUTER SCIENCE
Sectior: A: Multiple Choice Questions (40 marks)
(Every correct answer: 1 mark, wrong answer: -0.25 marks, not attempted: 0 marks)

Q41. How will you print \n on the screen?

A) echo "\\n":
B) printf("\n");
C) printf('\n");
D) printf("\\n");

Q42. Disadvantages of File systems to store data is:

A) Difficulty in accessing data

B) Data redundancy and inconsistency
C) Dataisolation

D) All of the above

Q43. Programs that are automatically loaded and operated as a part of Loy ser are known as

A) Utilities
B) widgets
C) plug-ins
. D) add-ons

, Q44. The assembler directive EQU, when | sed in tha in *ruction : Sum EQU 200 does

A) Finds the first occurrence of Sum and «a51gns value 200 to it

B) Replaces every occurrence of Sum with 200

C) Re-assigns the address of Sum by adding 200 to its original address
D) Assigns 200 bytes of memory starting the location of Sum

Q45. How to combine following two statements into one?

Char *p;
P=(char*)malloc(100);

A) Char p=*malloc(100);

B) . Char*p=(char)malloc(100);
C) Char*p:(char*)malloc(lOD);.

D) Char*pifchar*)(maIioc*)(lDO)j
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3T 2
qaar ey / Fogex @
; HTHTIT U Tgfahed1aueeT (40 3He)
(B GV STaTe: 1 3eh, el SAaTE: -0.25 3eh, shlal ol TATH wAE): 0 37eh)
Q41 31T &\ n EhYeT 9T BT Hr

A) écho "W\ n";
B) printf{"\ n");
C) printf('\ n');
D) printf ("\\ n");
Q42 FIFe FATCH H 32T T HTel o ehdleT:

A) e e o S
B) 3o 3R Awafa
C) EreT3erana

D) IR T

., Q43 91aTH, S Faaiford ®9 & &g 3R SR & Uh HarH &9 T 4, nﬁf’*mmgm G H ST ST 8

A) Fgafarard
B) faae
C) ToldT-Ee
D) VS-HTA

Q44 FIsTae fader equ, ST fder A sedarer fvar DU 200 &weaTy

A) AT R Y gl g @eTar § 3 3 @ & AT Fe 200 wETe Hel &
B) 200 & HIY AT & g AT hl dad 3T &

€) R AT IAT G- FeTel &l & 379 FeT Tl IX 200 SNZhT

D) TR b R FTeT FARY & 200 TTECH STt el

L Q45 T H Y el frifaf@a et Y |
B Char *p, :
P=(char*)malloc(100); U

A) Char p=*malloc(100);

B) Char*p=(char)malloc(100);
C) Char*p=(char*)malloc(100);
D) Char*p=(char*)(malloc*)(100);
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Q46. A computer System supports 32- bit virtual addresses as well as 32-bit physical addresses. Since the virtual address _
space is of the same size as the physical address space, the operating system designers decide to get rid of the wrtual
- memory entirely. Which one of the following is true?

A) Efficientimplementation of multi-user support is no longer possible.
B) The processor cache organization can be made more efficient now.
C) Hardware support for memory management is no longer needed.

D) CPU scheduling can be made more efficient now.

" QA47. If all page frames are initially empty, and a process is allocated 3 page frames in real memory and references its
pages inthe order 12324523241 and the page replacement is FIFO, the total number of page faults caused by the
process will be i
A) 7

B) 10

C) 8

D) 9

QA48. Airline feservation systems and inventory control system are the examples of system.
. A) indexed sequential file '
B) sequential file
C) pile
D) indexed file

. Q49. What does the following Declaration mean?
Int(*ptr)[10];

A) ptris array of pointers to 10 intege -

B) ptris a pointer to an array of 10 integers
C) ptrisan pointer to array
D) ptris an array of 10 integers

Q50. In SQL, which command(s) is(are) used to change a table's storage characteristics?

A) ALTER TABLE

B) CHANGE TABLE
C) MODIFY TABLE

D) All of the Above

Q51. Computer SOAP is

_A) format for-sending message

' B) designed to communicate via internet
- C) anindependent platform

D) All of these '
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Qa6 T e R 32-Rie STeTE it & aver-arer 32-fare silfoves Uet o7 FALE AT R 1 % A1 A A3l O3 T
" R T AT & Y 3 T €Y AR 3 ¥, e e fomeet gt oRE A M FfA A GEHRT ored
el | vt 3 & et Uk HEY &7

A) g 3TN T 3 Ferer e e T I & el §1
B) WG 3her Harae e A 3170 el aelrar SiT Hehell 81

C) mmmmmwaﬁmwmmm
D) g rsgfoler 3ra 3 T8 gHrerer S ST Hhl & |

Q47 Y s T F # @re mwmmﬁmwﬁﬁawwmmWH3245232'@41'

| _-'ﬁmwmmmwwm wmﬁmmﬁﬁ% TR & ROT g S |
A) 7

B) 10

C) 8

D) 9

Qaswmmmmwwwwﬂ _ goTTell & 3T @
A) 3TTSh T Jefehiaen HIgel

B) 37eTsh A HIgel

C)eX "

D) i

" Qa9 fFfaf@e Byum ST A 87

Int(*ptr)[10];

A) ptr 10 qUITeRT & T SART T AL TR |
B) ptr 10 Yuitehl T Ueh woft o forw qaeh &
Q) ptrﬂ‘\mﬁ'%mﬁﬂ?ﬂ?%
D) ptr 10 quient T v HLOM &
Qs0saL#, a‘r(z‘r)%wﬁaa;wrmmaﬁa#mﬁa;ﬁwmﬁwm%(wﬁmaﬁaﬂ&arv
© A drfesr 7 aRads :
B) wael @l
C) TaerweNfla
D) FWHEH
Qsiarm[uqa"sq?
A) HET AT & faw ey
B) saﬁte}?mwﬁmma:mﬁmrﬁmw%
0 R A '
D) AHH
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Q52. Which is the main function of transport layer?

‘A)  Synchronization
- B) End to end delivery
C) Node to node delivery
D) Updating and maintaining routing tables

" Q53. If private members are to be called outside the class, which is a good alternative?

A) Call a public member function which calls private function

B) Call a Private member function which calls private function

C) Calla Protected member function which calls private function
" D) Not possible

Q54. Which is more memory efficient?

A) Structure

B) Union

C) Both use same memory

D) Depends on a programmer

Q55. Which operator tests column for the absence of data?

A) EXISTS operator
B) NOT operator
C) ISNULL operator
D) None of these

»Q56. Stack cannot be used to —

A) Evaluating of expression in Postfix 11
B) Reversing String

C) Allocating Resources and Scheduling
D) Implementation of Recursion

Q57. Which of the following is related to GIS -

A) Euclidean space

B) Ramanujan space
C) Pythagorian space
D) None of the above
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' Q52 GEWIE X & YHE HIE F4T &7
A JeTHTeT
B) faaRoT o @ 37T a1k
€) s Bellafrwag \
' D) mmm%mmmﬁﬁwa@w
Q53 fo¥sf Hewal aat &, Sit ueh 3reoT faded § aTet & 1A 3§ ST Sirar &2
A) T HIEST AT TeET ARG S oM herret &l hiet shiel
B) Ueh TS WEET GANIE S S thareled &l ahiol ahiel
C) U TIaTd TeTg ARG SNt orsfy therelel &Y &hiel Firel
D) HE Y
. Qod @leT a1 10 i Ferer i
A) EEeT
B) HE
3 C) et veh g EfeY T 3uney
D) e SR o R e
- Q55 dleT AT AT THRTT 3eT & 379779 & fare Eesm.
; A) EXISTS 3Tq¥eT
+ B) NOT 3ifa¥ex
C) IsNull 3ifaex
.. D) FRARG AL
as6 [AfFafard 7 & 7w & fAT Stack 7 sTaATer A&7 T ST GFan
L A) vl w o sifeatad B e
) R
C) 3rdes Farys 3R fAfor
S D) Recursiunﬁﬁw‘lﬁ‘lﬁrﬂﬁ
Qo7 gt A e 2 SN @ wrE R
B EGIERCE= o
8) TS e
Q) ARy 3afer
D) $H W HIg o wig
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Q58. What is the output of this program?
1. class exception_handling
{ .

3. public static void main(String args(])
4 {
5. try
6. {
7 System.out.print(“Hello”+" "+1 / 0);
8 }
9 Catch(ArithmeticException e)

10. {

11. System.out.print(“world”);
1% } :

14, }
A) Hello
B) World
C) Helloworld
D) Hello World
- Q59. Which of the following options is the hest for generating random = ey rOor 1?
A) (int)Mathrandom()
" B) (int)Mathrandom()+1
C) (int)(Mathrandom()+0.5)
D) (int)(Mathrandom()+0.2) g
Q60. Program packages that allows user to s7&i4 ite »n afile or some combination of selected items are classified as
A) file search '
B) file inquiry
" C) quadratic linear search
"D) linear file search

Q61. Adevice for converting handwritten impressions into coded characters & positional coordinates for. mput toa
computer is ]

A) Touch Panel
'B) . Mouse
C) Wand
D) Writing tablet

Q62. which Printers uses a combination of laser-beam & electro photographic techniques. 3
' A) Laser Printers.
B) Dot-Matirx

- C) Line Printer
D) Daisy Wheel
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e WSBI%WHWW%‘?

- class exception_handling

2. | .
3. public static void main(String args|);
4 {
5. try
6 {
7 System.out.print(“Hello”+” "+1 / 0);
8 }
9, Catch(ArithmeticException e)
10, {
11, System.out.print(“world”);
i }
13 }
14. }
A) Hello
B) World
C) Hellowarld
D) Hello World

Q59| fetw=1 fashent o1 & shler A are Fooen Yoiter 0 17 1 Y1 e & farw warad 3reor

A) (int)Mathrandom()

B) (int)Mathrandom()+1
C) (int)(Mathrandom()+0.5)
D) (int)(Mathrandom()+0.2)

Q60| T Hepel e wigel a1 Tafad 3msesn S BT T T H 3 szwmaﬂﬁﬂ?%quﬂﬁam%é?wﬁ.
v qaffepet T e
A) W T @raT
B) WIEF ST
o) R iR @
D) ¥ Hise @ |
Q61iWW%WW%%%aﬁaﬂrﬁuﬁu-ﬁaﬁmﬁmﬁf@aﬁuﬁﬂﬁﬁmﬂi%w
A) el I UeTel
B) #HE3H
C) &l
: .D)' ﬁ@ﬂaﬂ?«?r

.
i

QGZIWEWWWW%W&W%WWWI
E) R e
” deaghn
G) wga e
H) 3l afdar
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Q63. The assembler stores all the names and their corresponding values in

A) Special purpose Register
- B) Symbol Table

C) Value map Set

D) None of the mentioned

Q64. Profilers are

"A) Tools that analyze the runtime behavior of a program
B) Tools that check a C code for cross file consistency
C) Tools that keep track of evolving versions of a file
D) None of the above

%

Q65. Which variables cannot be declared?

A) Structure
B) Pointer
C) Class
D) Void

Q66. Inheritance‘is referred to as

~A) isa” relationship
" _B) "have a" relationship
C) both of above
D) none of above

" Q67. Which operators cannot be overload 2d ?

A) Binary operator

B) Ternary operator

C) Unary operator

‘D) Allcan be overloaded

Q68. Which of the following statements is false ?

A) Using typedef does not replace the standard C++ data type name with the new name
" . B) The new name defined by typedef, can be used as a type for another typedef
) C) typedef defines new data types
D) None of the above

Q69. The symbol **
A) can be overloaded by changing its datatype. :
B) cannot be overloaded, as on overloading i*s meaning shall be changed.

C) can be overloaded.
D) cannot be overloaded as it is not a C++ operator.
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£ QB3 ISR HER T & 71 3R Io7ah Haiferey AT _
T A R e TR

*B) Yclleh difelenl

C) HedAFIAC

D) Ieol@ @IS ol

' t::u:mPrt:ui‘ilers%F
A} 3UFRIOT§ R U FIRIshA & i cTdg FT [a2eyor
B) 3UET § o ut wisel FERar & v ves ¥ #1g & sita &y
C) 33UV g o Ueh Brger T I3 TERoT &t e (s
D) o1& A IS 3 77

’ staﬁﬂmmmﬁﬁaﬁﬁﬁmmmﬁ?
A) G
A B) H{d%
C) e
seD)
Q66 fatrad & w9 7 ST ST §

A) T "Redrg
' B) U AT ST : '
b C) IR .
D) g AEE ol Tt
. Q67 Plerd 3iTa¥e AR g} fhar < T Fehar
1 A) gfasmend sfvex
-B) P9 3meT
C) Uehel HaleT
D) e &Y Hehell & HfAemRa

| qes B HuA A A A T 2

A) 'typedefﬁmﬂﬂﬂﬂ'g@mmﬁﬂ?mmmw 3T WehT{ &1TH Y g i «8r e
B) typedefaﬁﬁTqﬂ'ﬂﬂﬁHWWHﬂTﬂTﬁ% W&ﬂ'ﬁypedefﬂ*ﬁ@ﬁﬁﬁ*mﬁmmmm
' C) typedefdU 3€T YR GRHTNT T & i ,
) Eﬂﬁﬁﬂﬂ?mﬂﬁ '
i, Q69 STl **
| A) sﬂﬂ;mwmﬁwﬁaﬁmmml
mﬂmaﬁmmmwﬂmmm%m#mﬁmm|
(:) mﬁnﬂﬁaﬁmmml
D) aqmﬁugumwﬁaﬂumﬂé’f%&rﬁrmﬁﬂﬁ%mmWI
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Q70. Table Employee has 10 records. It has a non-NULL SALARY column which is also UNIQUE.
The 5QL statement :
SELECT COUNT(*) FROM Employee WHERE SALARY > ANY (SELECT SALARY FROM FMPI OYEE);
Prints

A) 10
B) 9
C) 5
D) O

Q71. Which of the following is not a level of data abstraction?

A) Physical level
B) Critical level
C) Logical level
D) View level

Q72. Bus, ring and star topologies are mostly used in the

A) LAN

B} MAN

C) WAN

D) Internetwork

., Q73. What is the central device in star topology

- A) STPserver
.+B) Hub/switch
C) PDC
D) Router

Q74. FDDI stands for
A) Fiber Distributed Data Interface
B) Fiber Data Distributed Interface
C) Fiber Dual Distributed Interface
E) Fiber Distributed Interface
Q75. By ‘spatial data’ we mean data that has

. A) Complexvalues - _
'B) Positional values p
C) Graphic values
D) Decimal values -
Q76. Which Scheduler selects which processes should be brought mto the ready queue?
A) Real-term , .
B) Long-term -
C) Mid-term .
D) Short-term
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' Q70 ael AT # 10 Repis § 1 T8 veh I-@rel da Ter ot o aefachiaeg. saL fawor

SELECT COUNT(*) FROM Employee WHERE SALARY > ANY (SELECT SALARY FROM EMPLOYEE); .
fiie g
A) 10 R
.B) 9
) 5
D) 0

; Q71 T A A et 32T I & U Tl A &
' A) IR TR
' B) HEAYYT FR
C) dféhes EIT
, D) TeW
Q72 5%, 38N 3R TR oo saTareR o R ot &
A) ool
B) Ha
C) a1
.. ' D) Fwelelcad :
Q73 R H Har Fasa Farg

L "A) TEEY Jay
B) &=/ f&aw
c) dErEr
D) FX
', Q72 THSEHTE &1 HAclold & -
C T A) wrEeR Aald ger Serthy

B) wrgat srer faaflia gexhy

C) wiged el faaRe gevhy
O LE) B faaRd gevkh|
T q7s eurfae Ser A g 3aT ¥ sHE Aded 78
A) aRER FEd
B) e Aot
C) arfther #yef
D) GRIHT Al

Q76 mmm%ﬁmwﬁmmmﬁmw |

. A) dredfas 3afy

o) defafar

) Fearafy - |

D) FTE[H’CTﬁT Il.*
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Q77. Convert the following binary number to decimal 01011,

A) 11
‘B) 35
C) 15
D) 10

L ]
ks

iy

» Q78. Computer memory which is used to store programs and data currently being processed by CPU is

’ A) Mass memory

' B) RAM

C) Non volatile memory
i D) PROM

: " Q79. Which one of the following describes the timestamp-based protocols cc':nrref;tly?

A) This protocol requires that each transaction issue lock and unlock requests in two phase,
B) This protocol employs only exclusive locks. :

™ C) This protocol selects an ordering among transaction in advance.
D) None of the above. :

- .Q80. Which of the following statements is a true statement concernine e open database connectivity standard (ODBC)?

A) Each vendor desiring to be ODBC-complaint provides.n GJIBC qiver.

B) Requires certain criteria to be met in order to estat’ sh an ODBC “o71ection.
‘ C) Provides a programming interface that preyviies cc amon le guage for application programs to acce'ss and-
Ua, e process 5QL databases independent of th. RDBM 5 actoo ' '
D) All of the above.
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' Q7701011 AT A fAFIfaEd gfasmad Gear A saad it

A) 11
B)" 35
5 C) 15
" D) 10

. Q7 A o TR it 1R By ko ek v e R e & g g e R @ g

0 A) wiHRgE ARRY
R
" Q) aiel - dTeTge AR
p) frqH

Q?gﬁmﬁﬁﬁﬁﬁmaﬁﬁﬁmmmﬁﬁﬁmmméﬂ

A wm%%mmmwmﬁwﬁMWﬁmam%i
'+ B) UG VICIHId el Ieled ool HrATe ¥

C) Wmﬂ%ﬁ#ﬁﬁaﬂﬁaﬁﬂﬁmwwwﬂm%r
Y. D) g AR

: Q80 farifaf@a 7 @ sl ar ves ged 39e Sema wafae 38 A (ool F Ry A aga

S A) el fashar oDBC-RIsHTI 1 gt U S 40BC SIEAR Tl HAT B
o . B) T HAIAEST I HIGL Tk ODBC & Aereret T2 ?Wﬁ@%ﬂﬁﬁﬂﬁﬂﬁ%l ,
© 0 C) TR SR W e 3T e ﬁr%af(swq%nsméaaﬂnmmsa:mﬁaquﬁmva%mlw '
YeTel T & Ueh UIanfHar SeTha veTel lar &
D) FW & G|
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Section B: 12 marks (Each question carries 4 marks)

. ot dfY: 12 37 (TAT W 4 3 qgT FA B)

. Q81. Justify the following statement:
i) Relation must have a key
ii) Handling null values is difficult

Q81 AT Hua F e afad #U
i) TEUH TH Foll glall HEWTH ¢
i) e AT gsfeaT el &
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. Q82. Consider the following schema

employee (person-name, street, city)
works (person-name, company-name, salary)

company (company-name, city)

A) Find the names of all employees who work for First Ban < Corporation.
B) Find the names of all employees in this database who live in the same city as the company for which they work,

.., a8z fart whar W faEr &Y

employee (person-name, street, city)
4 works (person-name, company-name, salary)

company (company-name, city)
manages (person-name, manager-name)

N
v W

p) T FAARGT B ST gge db e & AT A & AW gl 9|
B) =W ey & @t FHalEt & e § S dueh ored v 3 #w & w9 A @ e H @A § Hr aar,
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Q83. In electronic mail ,why do we need POP3 and SMTP.

.. Q83 S AT Y, it o O 3 A THTHA N Y T
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Section C: (8 marks) YIRT T: (8 3ih)

Q84. Explain “Geographic Information Systems: A Challenge to Computer Graphics”.
. Q84 " FeeX amfhery & forT ves Faitcl sitanfores gerer gorel & s 7 aere |
0

Y
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